pace

Maintenance s

Range of possible opening

H (Effective opening height) 200 500 300

W (Effective opening width) 6000 ~ 10000 Box component Colored steel plate Color: Ivory
— H (Effective opening height) 2000 ~ 6000 Sheet Polyester yarn encapsulated vinyl sheet ﬁ%lgggjgcr’gg %E‘?Jwg/e
. ¥ The drum box is devided in quarters in case of
Steel square pipe 150x100x3.2t the width is larger than 7435mm. Contents R 3 BNukml?gr S
(To the point of rust—proof X It‘t?]eviq(ﬁs thﬁthrym bo>|(I intﬁ]thr(;i:i%the event ofIt 2435 £ar sideloack sidel oum
: : either the width is smaller than mm or equal to mm. | Safet Th -
treatment is provided) Motor cover © # In the case of i height s higher tdhan‘|3000r$1m grely sensor rough-beam sensor ! ! 2
: e rail is composed of 2 connected rails. Start (Optional) - - -
( Prepored by customer) i ¥ As in the case %f either the height is lower than 3000mm artp sensor prond
—- - - - -~ —- - — - b or equal to 3000mm, 1 rail is supplied. Opening/ closing switch Single push button (Optional) - - -
? cj—m- * ,Ekl) b_((]jck (%ot\;]er Bs attached thée) main box. Vol Outoot 15K
- nside of the box is expose otor utput 1. - - -
Box cover = % Note 1:In case that thepback surface of the main P
S\ box is facing to outward catching wind pressure, Control box Three phase AC200V 7A or less 1 - 1
. . . it requires wall material and so on to block it.
150 W ( Effective opening width) 1501 |314h % Note 2: The box cover of the main box is an option.
! ¢ : X és in th? case og tdhef\_ﬂigth I:i)s Ialzgfr than 74:’>|_ rgm, Code |Quantity [Location of installation
pes of upper body fixing brackets are supplied.
00 (W+300) 700 SIE -
Maintenance space Maintenance space m— INFLOW Sosta
— Model: RX—4
Upper drum box fitting
Hanger
Upper body fixing bracket oy L
(FW> 7435) Upper drum box fitting The dashed line indicates the motor cover
B PF tube \ . @ *Drum box '
I __ _fl—l __ __ A\ __ __ - o\ 313_?_ N g No motor cover on the back side
(7] . "
2 S| 3 (Inside of the box is exposed)
| SR S—
| | AN 2 |
| Box cover T = _
Q w 5 i3\ Steel square pipe 100x100x2.3t
A N - N - - - - ™ = or— ¥l \\ (To the point of rust—proof
- X . . ! treatment is provided)
\Sheet hanging portion (Prepared by customer)
Relay cover 475
50.8 !
ki Control panel (three—phase 200V)

Fixing plate for reinforcenent

H (Effective opening heigh) 200 500 300

Light emitting/receiving sensor

Maintenance space

Maintenance space

Maintenance space

% Where to install the conrol panel or optional equipment must be determined
through consultation at each site.
%A preliminary discussion at each site regarding the type and the installation position
of the start—up sensor is required.
%Treatment of the installation base must be determined through consultation at each site.

|
—|. ' 268/ (Prepared by customer) 133.2 | a6l 100
| Caution sticker |-§||_rf1|62888h button = !
g PC’DU Where to install the optional equipment g PC’)?
P Lot emiting senso . . | dcaiiahie o ™ .
! /( Both the inner side and the external side of the rail) Fixing plate for reinforcenent o ' ‘, (Both the inner side and
i - — ) (Prepared by customer) o 5 il ; .
o ! Light receiving sensor . . o g5 Primary power supply O £ o the external side of the rail)
O (Both the inner side and the external side of the rai) Ny | of, = E (Prepared by customer) — e { |-
RE=EEN Sl T 8| vFL+0 o wFL%0 Tl S
LOO 150 W ( Effective opening width) 150 ‘ 700 900

e Project Title Drawing Name Sale by [Checked by Drawn by [ Scale | peference No 652507211
T High—speed Roll—up Door — 1/, .

o o _ 50 [ Drawing No. 01

— _speed Roll-up uniFlow | _ | _ | _
Er—— / |Date 250718




- A\ Steel square pipe 150x100x3.2t [ - D N Steel L—50x50x4.0t L=90
AN - (To the point of rust—proof 150 ] 50 (To the point of rust-proof
- - B treatment is provided) - ~ treatment is provided)
S @ > (Prepared by customer) S > @ (Prepared by customer)
// ™~ // N ) Bury or fix by M10 anchor bolt
~ ) (Prepared by customer)
o 50.8 - - I - - 60.8 @
m .
_____ —~ —————
o il % ey :
i W =
© I~~~ © =7 ©
o 1 R I IR - s
T ! B l V2 ) N E— S i S ]
| | A T o
I — . o e el N
0| <t
Relay cover / | | I&% © | | \ Relay box
|
i
2 I 0
3 | S
! N
150 W (Effective o?ening width) 150 |
|
Box cover (W+300) ' 314.5
= a
| |
| |
i | Mot
! otor cover
l |
; e 2L —
| |
| |
| |
| |
| |
| |
| |
| |
([ J
A—A’ Section @
. = Project Title Drawing Name Sale by [Checked by Drawn by [ Scale | peference No 652507211
) High—speed Roll—up Door — 1/5 i
T - Smoother RX—4 Cross section UﬂlrL@\V - - - Y i:;: = 22 - 83 18




(Jawo01snd Ag paipdald) %

110G Joyaup QN AQ X1} Jo Aung n
|

(Jawoysnd Aq paindaly)
(PapiA0Id ST JUBWIDa)
Jjoosd—ysnu Jo uiod sy} 0] )
06=110¥X0GX0G—1 [931S

(awoysna Aq paindaid)
(papiAoid SI JusWi}Dal}
Jjoosd—ysnJ Jo yuiod ayy 0] )
10°2X001X00 | 2did a1pnbs [9815

(awoysna Aq paindaid)
(papirold sI juaWI}Dal)
joosd—ysnJ Jo juiod sy 0] )
12°$X001X0G | adid a1onbs 9915

(Jawo}snd Aq paindaly)
(PapiAoJd sI JUBWIIDaI}
joosd—ysnJ Jo yuiod ayy 0] )
10°2X001X00 | 2did a1onbs 9215

11 | (Ot Tl o A OF 144
A |
| |
e
o
O
<
(o))
C
c
)
— o
O
]
2
o
9
0
00T 961 T
el ([ =gt [ [59¢
\H\\\I//”/
PR
. o
TRTA :
j\\ o
ol
WG N == N — J|
N e )
s
Y N
o
& 3
ol O
D O
/ wl ™M
1N
D
5
N\ \_ _
NEl =T S
AR e SIY

B—B’ Section

Reference No GS2507211
Drawing No. 03
25 o 07 ° 18

Date

Va
/

Sale by [Checked by[ Drawn by | Scale

UnirLow

High—speed Roll-up Door
Smoother RX—4 Vertical section

Drawing Name

Project Title

H
i




Steel square pipe 150x100x3.2t
(To the point of rust—proof
treatment is provided)

EIXD/ (Prepared by customer)

‘ ‘150 W (Effective opening width)

Steel L—50x50x4.0t L=90
(To the point of rust—proof
treatment is provided)

o X<(Prepored by customer)
or—
T ‘ Bury or fix by M10 anchor bolt

150

(Prepared by customer)

Steel square pipe 100x100x2.3t
(To the point of rust—proof
treatment is provided)

Top of steel pipe fix to
strcture by welding or bolted

/ (Prepared by customer)
/

MPrepared by customer)
]

590
100,390 {100

Position of sheet hanging portion

Steel square pipe 150x100x3.2t
(To the point of rust—proof
treatment is provided)

(Prepared by customer)

H (Effective opening height) +200

H (Effective opening height)

Steel square pipe 150x100x3.2t
(To the point of rust—proof
treatment is provided)

(Prepared by customer)

Steel L-50x50x4.0t L=90
(To the point of rust—proof
treatment is provided)

Top of steel pipe fix to
strcture by welding or bolted

/ (Prepared by customer)
" Steel square pipe 100x100x2.3t

(To the point of rust—proof
treatment is provided)

590

(Prepared by customer)

H (Effective opening height) +200

100,390 100

Steel square pipe 150x100x3.2t
(To the point of rust—proof
treatment is provided)

(Prepared by customer)

Steel L-50x50x4.0t L=90
(To the point of rust—proof
treatment is provided)

(Prepared by customer)

YFL+0 | <( Prepared by customen) YFL+0
150 W ( Effective opening width) 150 Bury or fix by M10 anchor bolt \Bury or fix by M10 anchor bolt
(Prepared by customer) (Prepared by customer)
¥Treatment of the installation base must be determined %|—shaped component (St: L—50x50x4.0 L=90) for steel frame connection
through consultation at each site. is prepared by customer

=== - Project Title Drawing qu? ) 4 Rol 0 Sale by [Checked by[ Drawn by [ Scale | Reference No GS2507211

igh—speed Roll—up Door — /40 —

T - Smoother RX—4 Bases of installation UunirLowv - - - Y imw ng Mo 04

ate 25 07 = 18




	01
	02
	03
	04

